
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

4986, 9 × 0.001 = ________ 3523, 4 × 0.01 = ________

4126, 6 × 0.001 = ________ 6626, 3 × 0.01 = ________

9109, 1 × 0.1 = ________ 6055, 2 × 0.1 = ________

4679, 1 × 0.0001 = ________ 7203, 7 × 0.001 = ________

3942, 5 × 0.01 = ________ 7012 × 0.01 = ________

2107 × 0.1 = ________ 9914, 1 × 0.1 = ________

8740, 6 × 0.001 = ________ 8291, 3 × 0.001 = ________

1592, 3 × 0.001 = ________ 9429, 1 × 0.001 = ________

8250, 5 × 0.1 = ________ 7960, 2 × 0.1 = ________

8517, 9 × 0.001 = ________ 8055, 5 × 0.001 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze negative di dieci

4986, 9 × 0.001 = 4.9869 3523, 4 × 0.01 = 35.234

4126, 6 × 0.001 = 4.1266 6626, 3 × 0.01 = 66.263

9109, 1 × 0.1 = 910.91 6055, 2 × 0.1 = 605.52

4679, 1 × 0.0001 = 0.46791 7203, 7 × 0.001 = 7.2037

3942, 5 × 0.01 = 39.425 7012 × 0.01 = 70.12

2107 × 0.1 = 210.7 9914, 1 × 0.1 = 991.41

8740, 6 × 0.001 = 8.7406 8291, 3 × 0.001 = 8.2913

1592, 3 × 0.001 = 1.5923 9429, 1 × 0.001 = 9.4291

8250, 5 × 0.1 = 825.05 7960, 2 × 0.1 = 796.02

8517, 9 × 0.001 = 8.5179 8055, 5 × 0.001 = 8.0555
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